Subject : Mathematics Std.- XII / Sec.: Worksheet

CHAPTER: INVERSE TRIGONOMETRIC FUNCTONS

Relations and Functions

1.

2.

If f(x)=|x and g(x)=[5x-2| ,f, g are real functions , find fog and go f .
If f(x)=x*-3x+2 and f:R—>R,find f(f(x)).
If f(x)=e", g(x)=log, x,x>0. Find fogand gof.Is fog=gof.

X

J1+3x2

Let f(x)= , then show that (f o fo f)(x)=

X

V1+x?

Is the function f :[O,oo)—> R given by f(x):i1 is bijective.
X+

Let A={1,2,3,4} , B={a,b,c}; then find the number of functions from A — B which
are not onto?

Let * be a binary operation on Z defined by a*xb=a+b-4,vVa,be Z.

()Show that * is commutative and associative

(iFind identity element in Z

(iiFind invertible elements in Z

Find the number of binary operation s that can be defined on a set of 2

elements?

If f:(L0)— (2,00)is given by f(x)= x+% then find

10.1s the binary operation * defined on the set N, given by ax*b= a%bfor all

a,beN

Commutative and associative?





